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4. output
8. replace
12. infrared

3. circuit
7. interface
11. transfer

2. design
6. resources
10. programmer

1. access
5. components
9. optical
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14.
15.
16.
17.
18.
19.
20.
21.
22.

a. save
b. permit

c. a language for Internet applications

d. a network in a small area topology

e. data processed by a computer

f. it is used to control the curser

g.do
h. make able

i. setting tracks and sectors on magnetic disks
j- display
k. answer

carry out
solution
allow
formatting
store

show

Java

LAN
information
mouse
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“Permanent” storage of information is provided by hard disk.

The scanner is an input device.

Removable cartridge are not transportable.

Windows Millennium is designed for business uses.

You can retrieve files if you delete them by mistake.

A card index system is much faster to use than a computer database.
Today most letters and reports are typed by virus protection.

You need to have a sound board on your PC to hear speech and music.
MP3 files are much bigger than WAV files.

The compiler converts source program into a lower-level language.
The Internet is the biggest LAN in the world.

Handheld computers run Windows XP.
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Web - satellite — organism — properly — visual- modem — markup — buffer

35. Cyborg is a blend of two words cybernetic and ......................... .

36. Modern laptops come with a DVD drive and a built-in.........................

¢ | 37. In the future , people can even surf the ................... by speaking to the computer.

38. HTML stands for Hypertext ......................... language.

39. Networks on different continents can be connected via .........................

40. If your computer doesn’t work ......................... ,you can restart your computer

41, e, refers to the technique used to create a graphical user interface.

42. A/An ... is an area in a computer’s memory where information can be
used for a short time.
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43.The operating system is automatically loaded into the ......................... section when the
computer is started up.
a) RAM b) ROM ¢) floppy disk d) hard disk
44.Which device is used to enter data into the computer?
a) monitor b) printer ¢) speaker d) keyboard
45. Data recovery utility can recover ......................... .
a) virus files b) corrupted files ¢) environment d) adopt

46. Which of the following sentences is wrong?

a) word processing is more than just typing.

b) we can say antivirus is the electronic equivalent of a filing cabinet.
f ¢) records can be stored into numerical or alphabetical order using any field.
d) any part of database program can be protected by user-defined passwords.

47. The ..., menu of a word processor allows you to set page numbers.
a) Tools b) File c) Edit d) Format
48. The most common format for video and animation files are ......................... .

a) JPG b) MP3 ¢) MPEG d) PDF
49. What is called the way of dealing with bandwidth problems when you download
video from the Internet?

a) streaming  b) fetching ¢) motion d) playing
50. Reading through something that is written or printed to correct any mistakes in it is
called ...........c.c.c....... .
a) proofreading b) manipulate ¢) search d) typefaces
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51. Which server is used to mange communications and store common files?
a) print server b) file server ¢) application server d) database server
52. Which of the following keyboards watches finger movements and translates them
into keystrokes in the device?

a) 3G b) real-time ¢) projection d) JASJAR
53. The translation of the logical steps into a programming language is called ................ .
a) debugging b) coding ¢) testing d) writing

54. Which sentence is correct?
a) Bluetooth was introduced by Intel
b) Bluetooth is a standard short-distance wire technology
¢) Bluetooth only designed to connect desktop PCs
d) Bluetooth uses high-frequency radio waves
55. Rules that allow the exchange of information over a network is called ......................... .

a) architecture b) topology ¢) protocol d) transceiver
56. Which part of a address of a file on the Internet often tells you the name of a
company, country of origin , university or organization?

a) WWW b) http:// ¢) domain name d) directory
57. This application helps students learn a language.
a) educational software b) database program
¢) programming language d) word processors
58. When you want to delete a word or text ,you can ........................ it first with the mouse.
a) limit b) highlight ¢) click d) limit
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59. What does WIMP stand for ? (1)

via 60. What does DTP stand for ?2(0. 5)
61. What does USB stand for ?(0. 75)
62. What does AI stand for ?( 0. 5)
63. What is a byte 2( 0. 75)
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23. True 24. True 25. False 26. False
¥ | 27. True 28. False 29. False 30. True
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¢ | 35. organism 36. modem 37. Web 38. markup
39. satellite 40. Properly 41. visual 42. buffer
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59. WIMP : (Window Icon Menu (or Mouse) Pointer ) (1)
60. DTP : ( Desktop Publishing) (0. 5)
Y/
61. USB: ( Universal _Serial Bus ) (0.75)
62. AI: ( Artificial Intelligence) (0. 5)
63.Eight bits together are called a byte.(0.75)
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